0o0oO0ooooo0 (00)

20060 40 200000

U0 Joobooo0obooobobooobobooobbog PythonODOOQOooQd
gogbbboooobboomobobuoooooboboda
(1) a=17, b=31
(2) a=1234, b=56789
(3) a=5%%100, b=Txx70

g e OO 20000 a,b.

e 10000000000000000 [d,z,y]00d=ged(a,b)0 a0
bO0OO0OO0O02,yd d=ar+by 0000000

ggboo - 0o (h120000000)

g

#!/bin/env python
#
# hina060420.py

from math import * # 0000000 oooooboo
# 0J00Db0b0obobobo

# d = gcd(a,b) = ax+by OO0 d,x,y ODOOO

# J00D00O0O0ODOO0O [@,x,y] DODOOOO

# 0000000 main routine JOOODOOOOO

def euclid(a,b):

if b == 0:
if a >= 0:
return [a,1,0]
else:
return [-a,-1,0]
else:
r0 = a
rl =b
x0 =1
x1 =0
yoO =0
yl =1

while r1l !'= 0:
q = r0/r1

1



# 000000 #4444
## D0 0000 #4444
##### DO D000 #4444

r0 = ri
rl = r2
x0 = x1
x1 = x2
yo = y1
yl = y2
if r0O < O:
r0 = -r0
x0 = -x0
yoO = -y0

return [r0,x0,y0]
# O0O0O0 main routine

print

print ’Euclid DD O00O0O0OO0OOO0OD0OOOOOOOOO?
a = input(’a = ?)

b = input(’b = )

1ls = euclid(a,b)

d = 1s[0]

x = 1s[1]

y = 1s[2]

print

print ’d = ’,d

print ’x = ’,x

print ’y = 7,y

print > 00O :°

print ;(7’a’;) * (’,X,’) + (’,b,’) * ()’y,)) = ’,a*x + b*y

O
O
O

Euclid U0 0O0OO0OO0O0O0O0O0OOOOOOOOOO
a = b*%x30
b = 3%*50

1
-89115256441822303775825
115608417198323432874

31322574615478515625 ) * ( -89115256441822303775825 )
717897987691852588770249 ) * ( 115608417198323432874 ) = 1
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/* rep02.c */

#include<stdio.h>
#include<stdlib.h>



/* 000000000000 000000000 version */
int euclidl(int a, int b, int *x, int *y)
{
int r[64],xx[64],yy[64],q,n=1;
r[0] =a;
r[1] =b;
xx[0]=1;
xx[1]=0;
yy [0]=0;
yy[11=1;
while(r[n]!'=0){
n++;
g=r[n-2]/r[n-1];
r[n] =r[n-2] -g*r[n-1];
xx [n]=xx [n-2] -g*xx [n-1];
yy [nl=yy[n-2]-g*yy [n-1];
}
if (r[n-11>=0){
*x=xx[n-1] ;
*xy=yy[n-1];
return(r[n-1]);

elseq
*x=-xx[n-1];
*y=-yy [n-11;
return(-r[n-1]);

}

/ 000000000000000000000000  version */
int euclid2(int a, int b, int *x, int *y)
{
int r0O=a,rl=b,r2,x0=1,x1=0,x2,y0=0,y1=1,y2,q;
while(r1'=0){
g=r0/r1;
r2=r0-qg*ri;
x2=x0-g*x1;
y2=y0-g*y1;
rO0=r1;
ri=r2;
x0=x1;
x1=x2;
yo=y1;
yi=y2;
}
if (r0<0){
r0=-r0;
x0=-x0;
y0=-y0;
}
*x=x0;
*y=y0;
return(r0);



}

/000000000000 00000000000O000  version */
int euclid3(int a, int b, int *x, int *y)
{
int q,r,d0,x0,y0;
if (b==0){
if (a>=0){
*x=1;
*y=0;
return(a);

elseq{
*x=-1;
*y=0;
return(-a);

elseq{
g=a/b;
r=a-qx*b;
d0=euclid3(b,r,&x0,&y0) ;
*x=y0;
*y=x0-g*y0;
return(do) ;

main()

int a,b,d,x,y;
printf("input a and b:\n");
printf("a = ");
scanf ("%d",&a) ;
printf("b = ");
scanf ("%d" ,&b) ;

printf ("\n");

printf("euclidl :\n");

d=euclidl(a,b,&x,&y) ;

printf ("gcd(%d,%d) = %d = (hd)*(hd)+Chd)*(%hd)\n",a,b,d,a,x,b,y);
printf ("check : ");

printf (" (4d) * (hd)+ (%) *(%d) = %d\n",a,x,b,y,a*x+b*y);

printf ("\n");

printf ("euclid2 :\n");

d=euclid2(a,b,&x,&y) ;

printf("gcd(%d,%d) = %d = (hd)*(%d)+(%d)*(%d)\n",a,b,d,a,x,b,y);
printf("check : ");

printf (" (%d)* (%d)+(%hd)*(%d) = %d\n",a,x,b,y,a*x+b*y);

printf ("\n");
printf("euclid3 :\n");



d=euclid3(a,b,&x,&y);
printf("gcd(%d,%d) = %d = (%d)*(%d)+(%d)*(%d)\n",a,b,d,a,x,b,y);
printf("check : ");
printf (" (%d) * (%d)+ (%) *(%4d) = %d\n",a,x,b,y,a*x+b*y);
}

/* 000
input a and b:

a = 12345
b = 6789

euclidl :
gcd(12345,6789) = 3 = (12345)*(-903)+(6789)*(1642)
check : (12345)*(-903)+(6789)*(1642) = 3

euclid2 :
gcd(12345,6789) = 3 = (12345)*(-903)+(6789)*(1642)
check : (12345)*(-903)+(6789)*(1642) = 3

euclid3 :
gcd(12345,6789) = 3 = (12345)*(-903)+(6789)*(1642)
check : (12345)*(-903)+(6789)*(1642) = 3

*/

COO00000 euclidl 0OOODO
a=61,b=39000

n q Tn Tn Un

0 61 1 0

1 39 0 1

2| 1=[%]|22=61-1x39 1=1—-1x0 —1=0-1x1
311=[8]|17=39-1x22| -1=0-1x1 2=1-1x(-1)
411=2] | 5=22-1x17 | 2=1-1x(-1) | =3=-1-1x2
513=[%]] 2=17-3x5 | -7=-1-3x2 | 11=2-3x (-3)
6| 2=|3] 1=5-2x2 [16=2—-2x(=7)| -25=-3—-2x11
7| 2=|2] 0=2-2x1

ged(61,39) = 1 = 61 x 16 + 39 x (—25)
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